MiEE BARES S

QuF (D>7) (M)
I E F OBZ ¥ P B I E F OBZ ¥ P B
11 B O F & |1 5 —FILRG 1 5 0O #I ¥ |1 NN )
21 B ™ # (3| BRSHULVWZFDPER 21 B B $£ £ |2 BERSMNZFPER
13| IR T F O3 |1 BERSHUAREPER M3 F H E B (2 5 —FILRG
4| N Xk B £ M |2 5 —F~ILRG 41 I B | K |2 BDLDITHERREDST
5| & & E B |3 BESHIIMNTPER 5] # B F X |[1|ERSARHEFUHEPFK
6| 8 ¥ U )L T |3 BESMNZFPER 6| K & I 8 |2|U1rYN—FKRRDST
TN R B 2 |3 BEHRREIST 7l W RN R |3 BREMIUIPHPER
28| J\ A B M (3| EBESHURDPER 2B 8| M B B ) |3 BREESMNZFPIER
9| B = & |3 mAINHIIIOPER o| B8 B M = |1 5 —FILRG
10 X R X R |2 BEDIUIFPERILPER 100 F B £ = |2 BRESMLNZFDPER
11 B B F M |1|EBRSHURRUPER 11 8 B 2 |3 BRSHIIMITPFER
12 2 B ® B |1 & —F~ILRG 12| 2 R0 B B8 |2 BRSEMIHPER
SU(13| B Tt D U |3 RENRNRD ST Y13 M O X O |2 AREHRRED ST
14 %ZF N £ ®m |3 5 —FILRG 14 &8 &F & of |1 5 —FILRG
15 IV W B #E B |2| BRSHIIFBEDPER 15 £ W B F (2] DLWOITHEKREDST
16 £ & B z= |1 BRESHLNZFDPER 16| B im0 W |3 BRSMIEADPFER
17 W2 A B 7 |1| BRSHIIEADPFER 17 & W E N |1| BRSHIUIPEDIR
418 & 0O #I E |1 AEHKBRD ST 41;(18| B B B &’ |3 AEHKREDST
19 B B8 $ & |2 BREMUNZFDPER 19 B O & & |1 5 —FILRG
20 F I E ;W |2 5 —FILRG 20 E ™ £ |3 BRESMLNZFPER
211 Il B B & |2 DLDITHRRDST 21| IR Tt ® D |1| BRSHIIAKRDPIER
22 H B F X |[1|BRSKFEEFIHEDIR 22 N K B £ & |2 5 —FILRG
58|23 K & I & |2|UAYN—$FEEOST 5u|23| D N E HF 3| BRESHUNITPER
24 W N W xR |3 BRESHIIPEDPIR 24| B 1R U )L = 3| BRESMMNZFPER
25| i 1B B I (3| BRESMMNZFPER 25| IV R I B B |3 BEHRKRIST
26| BB E M = |1 5 —F~ILRG 26| J\ K B # |3| ERSEMIIHPER
27l F R E = (2| BRESMLMNZFPER 271 P B & |3 mAMNMBIIIOPER
51|28 it B 2 I (3| BESHIUIMITPFER 528 R R EF R |2| OEMUIFERIEDPFER
20| 2 R B B B |2 BRESHIHPER 20| 8 B F M |1|EBEISSEHUXRRUPER
30| fi O F O |2 AESFHEBROST 30| M E B MR |1 5 —F~ILRG
31| 8 & X sh |1 5 —+HILRG 31| B 5T D U\ |3 BEHKEISD
32| £ W B F |2 DLDITHRRERDIST 2 % F & m (3 5 —FILRG
611|33| ¥ Um v W |3| EBRIRSHIUIBMADPER 6u|33| VW B Mt 8 |2| BRESMUMNBPFER
34| & W E R |1| BESHIUIPEDPIR 34| £ & B Z= (1| BRESHLHWEZFPER
3| B B B | |3| AEHHEBROST 3| W2 MW B M |1 BERSHIIEMADPIER
0EF RT (v OPZ
B B2 F % s PR B B B2 O F % Y3 PR =
18T 8 7 2 |3 = i3 1l A W KR T BB |2]—FLAR=YDST
12| &Fx BB K B |1 T EER 12 B8 @ |\ I\ (3 W EER
3| R W & I BB |2[—FILAN=YDST 318’ A F 2 |3 e BER
41 8 B @ i\ |3 = i 33 41 ZFxZ @ k& 8 |1 = i3




